ERRVEH LORBIEOBER (FR29F4A18K%E)
TREEHE(—) (BEREZET)

ik

BRI

ZEN

Bl £
D Ex &

TR

R OB

&

E2 1o

LEHE

NG

ERAR

64K

REOBH

32

5.6%

ey

N

Xk
=R
RE

Rt EHE

E2 oS

/INET

REHR

5%k

ARRAEDBT

82

14.2%

Rk

X&

X PR #E
ES
ERftk
ik
i RE
E&
RE
REEIE
L p s
fEfR

Bl
NIN[=IN[O|W|[=|W|[=|J[=[=ININ|= == WS |d|= =

INEF

REMIER

48R

FREXILEME OB

166

28.8%

®RE

REEE

YRR

Zat

THRELE

INEE

=

&M

FiE

i

HMER

3R

FEDEH

177

30.7%

177

177

FEH

2%k

FEDOBH

45

7.8%

—

\

Z@BEA)

Bt

FEMR

1%%

TE. REXIIEHE OB

67

11.6%

E

=

P Y S Y Y g

t

REATE

5

B

fRE2AM

AEE EER)
ES

=

NG

=%8

TEEEHR ()

576

100%

Fik

REEMTIR TS

A%

ZEN

5%k

4ROBIZHLHETHRDZBH=LD

LiREARES
LHREHEEGTF
iﬁ%ﬁé

\

SABE
i

48R

SRDBIZHLHETHRDZBHI=LD

25.0%

E

254 10-]

il | | Pl

O ENET

W= IN|JININ[=N

\

it

KE

1 BEORMXITRERELDEELT OBEXBTF OB

2 BEOKEXITREREDELT HEBEITS—MREEER
B D
%EE@H%X@ﬁﬁé%%t?é%ﬁ%ﬁ5%@ﬁé@
4 BEORREXITRREVELT HEBEITIEYEEL
F OB

5 HICRABLGEBETORBEEEFORHE

16.7%

FHEZRER

—_

FHEEEELT

—_

/INET

N

12

100%




ERBEHE (=)

E— T FEINE
% BRI e T MR g
LIREME 1
58 | LBREME DB 2 50.0% |F#REPFIS (FHAH) 1| L#REME
3; 2
Mp | EPIEOEE | 2504 fiﬁﬁ 1 ®MA
MRk ([ EFEOETS 1 25 0% iﬁfﬁggﬁ : FE

100%




EMBEVEH EORBECEOBER (TR29F4 8 1B1R#E) KER]

TEEE R (—)

=34 X5y )\ﬁ%ﬁgug PIER %gé‘?
T |RERFTNIHELT B 1| em BE B
68 [REXITTIITHELT IR 2 | sa [HE L
] RERE 2
58 |RERMBEXIZINIHEYT BB 3 81% |EE 1] BRRABIER
gt 3
& 8
R 1| fRER
MR R EFBRECNITHE ST SR 14 | 378% [Ihdt 9
B -
e 5| FFA#H
3% |EERGTNITHELT PR 1| s R e
2 |EEREHITHLT B 2 | se (ER R
£ 1
— 4 =4l . INET 1 TH
1R |EBREINICHEST OB 2 5.4% =
E2 ] 1 gxg
T 1

37 100%



EMBEVEH LORBECEOBER (TR29%F4 R 1B1R%E) RkkE]

TEREIE R (—)

ik BHESE

op
E'IE

A%

k=)

ZEN

Bl £
D Ex &

T8 |BERXIEINICHEET B

1.9%

&

INET

BRAR

65k [REXIEIhICHEBT IHH

1.7%

Ecy

E2 oS

M

REHR

5% |REMEXIINITHAT DB

10

19.2%

EBE

REEAT &

SRRME

=R

EBRRMEE

\Yas

—_

REMIER

4R |(RE.EMEXXIEINICHE T DB

10

19.2%

RE(EBE)

& (1)

INET

REM

EME (EHS)

EME (FHHER)

INET

HMEMK

3k | EERIEINIZHEH T DT

13.5%

FEGED

FE&GHEE)

FE(EHE)

/IVET

FEH

28k | EEXIETNICHZ T HHEHE

17.3%

FE(EHE)

& (BhAm)

FEGD

FEE

NG

FEMR

1 | EBXIESNICHETIEH

1

21.2%

=

BB (EBE)

T=E

HeEutt

/NET

—_

=

=HB8

T

== |O|=|=|=]|JN|OIN|Ww|[=|Ww|d]|BDIN|= B W= |=|O|O|IN|= D= |N]|BININ = | =

%8

ERBEH R (—)

52

100%

ik BHSE

op
E'IE

A%

k=)

R

4% | FHERER OB

1.1%

fR&

NG

Bk, EE. ERR. TAMRXIIHELSE
DRBEVLELTOIME. EIRER. ER. THE
ﬁ%%ﬂﬂﬁﬂ%ﬁ%bﬂi%’—*ﬂ%ﬁﬁ%%ﬁﬁﬁ
DE

3R

44

48.9%

[

ERE

FEHEE)

& (EAR)

N

B & (EAR)

BIBEE

EHEE

EEEIRE R

T

S

AROF R, BIE K. OB R VRERED

2% mLS 2 EEOBE

34

37.8%

BIEH & (EEER)

= |Bn|=[N]|wlol=|lo|=|Nn]=]—=

Ex

N
N

E&

—_
—_

T

w
S

1k |[EEOEH

11

12.2%

=8

©

EHEES

N

INEE

—
—

90

100%




ERBHEMR(C) (BEREEZET)

ik

BHESE

A%

ZEN

5%k

FIRDERE. B, HffiE. LHEME XL
NIZHE LT BHET

35

LiREM B (A

N
~

BB & (FBf)

(S

ERE

N

BR (56f)

—_

/IVET

w
1

4R

BMEXEINITHST DB

13

10.1%

BB & (FeBf)

—_

%P4 A (D)

—_
N

INEF

—
w

3R

FRE. TEXSHELASEONBERUVRRELE
&Y HEAMTE B DT

21

16.3%

EF (Bfm)

—_
~

R E 353

Bkl

BERR

l\Yas

2%k

BifiE A RIEINICHE T DT

40

31.0%

EEHE T

wREELE (BER)

RIS #R R A

ZRBSHREM (BER)

BepgAT

ERFAT

SEREL

B PRI B A

FEFIER

EEREL

FRER T H+

PR DL

—|w|n|w|w|=]|o|w|=|a|=|= ===

INEF

1%%

FirsE B AE LB LS OB

20

it 8 ($Em)

5L

ERBIEHR (Z) ( BEREZET)

129

Fik

A%

ZEN

61k

ARDEIFER. BEDRRVREEMROBHE

IR ENR

BlE

INEE

5%k

ARDEEIE., RBEEME. BIBENR. B
EEN R, EMREME . EMRARER. RRMIE. 7R
. IESFEREVESEMOGR OB

99

21.6%

Bl

LHREFME CHFEEM)

N =

LREME CEFEA)

BHME

BN

L #RFPI 8 (AR - BhERT)

FERME CHER)

INEF

4R

BIEEM R, Bk, EM 8. TEUREENX
FHELASEOMBRURREVELT HHE
B, B EANE L3 B EAT AR DB

65

14.2%

EME S

%M &8 CEHEEm)

($)]

NEXEFEME

HME (BhEET)

B E (E-38)

INEE

(o))

3R

FHEIE. TEREMXIIEEDIHBRVE
BREDEREY HBIER, B, £EEMCHE
L<ISEREZER(3HR) D RS

137

29.9%

FiETE CHE)

B A

©
BN |= = DN ][O|=[N|W|=|= W[N] —=|—

BEn

—_
N
N

b 4]

T

—_
w
~

2%k

BhEEEM ., B &AM . A B EMQR). FEXIEh
IZHR LT BT

149

32.5%

Gt 121

B (BER)

b 4l

% AT - B A

B 7 B

/IVET

1%%

B R DR

1.3%

EEEE(BEA)

T

458

100%




BEEHia MR (BEREZEL)

. Eo¥ii
%4 WS R ] A MR
1 |[EEOEBETIBAOKE 1| o (EEAGER }
1 100%
T -
%4 WS E EE MR
= R, N = HME (iE8) 4
BEOMBRUEREBELT SEFIARIEE \ 2t
4R T 6 28.6% f}i\f}(ﬁaﬁﬁ) (25
HFIE AR 3
3k |EEXREEMEOBE 10 47.6% [T (N EES) 7
INET 10
2 |[RLONMRUGRELELTONEAORE | 2 | o5 [IEA .
1 |(NEAOHE 3| a3 pPHER :
21 100%




